Rownania rézniczkowe wyzszych rzedéw

opracowanie: Agnieszka Gorlich

1. Rozwiaz réwnania:
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y' =2y +6y=0

)
(b) y" =6y +9y =0
(c) ¥’ =5y =0
(d) v"+5y+9y =0
(€) y" —4y' +4y =0, y(0) =y'(0) =0
(f) y" =5y +4y =0, y(0) = 5,4/(0) =8
(&) v =2y +y= 55
(h) ¥ +y+ctg’xr =0
(i) v — 4y + 4y = 22
(G) v +y=2sinx —cosz
(k) " — 4y + 4y = >
M)y =2 +y=e*
(m) ¢ =3y +2y = ze™
(n) y"—4y'+ 3y = €** sin x z warunkiem poczatkowym y(0) = 3/(0) =
0
(0) y"+y =2% y(0)=0,y'(0) =1
(p) 2y — 5y — Ty = €** +sinx
(q) ¥ — 3y +2y =sinze™
)

(r

2. Rozwiaz réwnania:

y" + 3y + 2y = 8 + 6e” + 2sinw

(a) y/// + 2y// _ y/ _ 2y — O



(b) yIV —5y" +4y" + 3y + 3y =1
(©) " +y=3e

(d) v"+2y" =y — 2y = 2% 4 2¢*
(e) ¥V +2y" +y=sinz

(f) 3y" —=5y" +4' +y =0,y(0) = 0,4/(0) = 1,y(0) = —1.



